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For their laws — IR by

Overview

The X3 explains the reason the 770 writes all the MaX (even though we
could have derived them from a MW 7X) is to teach us the various laws that
apply to each 2X specifically. moon offers an alternate (but similar) solution
why it was necessary to write all the max.
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The X713 could have answered that it was necessary for the 770 to write
all the max (even though we could have derived them from a mwn 7X) -
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For if the m2aX would not be written in the 770, but would rather been
derived through a mwn 7% from one of the NM2X and 713, then we would

exempt the derived max from paying for 2%%2; just as 712 is 7105 on “0*9> -
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And if we would derive the m2X from one of the M2k and WX, the derived
mMax would be exempted for paying for J%w; just as wx is 7o for Nnv.

Mmoo anticipates the following question; since we can derive (many of) the Max through
a mwn 7%, why does our mwn state the various >3 X7, which gives the impression that the
M2aR cannot be derived from each other. Mo01n responds:
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And our mwn» did not state the various "7 X% (to indicate that the max
cannot be derived from each other); but rather to make the 770 great and
glorious.*

Summary
The X713 could have explained the reason for mentioning all the NM2ax is that

we should not exempt them from 2°7> (or 1Mv). The 71wn mentioned the &5
°377 in order TYIXR* 37N P70

Thinking it over
Is there any advantage in m»0n explanation over the s'&773 explanation?

! The %"w i considers the entire Moo (till “1m1) as a marginal addendum and omits it from the text. See
TR R"WAN.

* When something is derived from a mwn 7%, it is limited to the restrictions of (all the parties that comprise)
the mwn 7%. See 1Mwn 7"7 2,3 MdoN and ‘Thinking it over’ # 3 (there).

? The X"wn explains that Moo is anticipating the following question. Perhaps the reason the x»3 did not
say 022172 o 117, for we can derive the mar (besides M3) from 7°8n 7Y WR. MO0 responds that the
X713 could have then said w"»¥1,7720 172 W9 N,

* The mwn teaches us various NP1 N1 of the may; that we could not have derived certain nax from
other Max, etc.
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